g g vier Briiche, Dezimalstellen, Reihenfolge der
“ ﬂ 2 Operationen mit Klammern

Name: Datum: Ergebnis:
1 1 3 1 31
—x8+2+2(=—2)= —Xx6+2-2=+ =)=
2 377 2 G+7)
g+3(1+g): 3,1 x12+3+4(4,2+3,1)=
5 72 3
2 1 1 3 1
Zx15+5-2(=+4,2)= _—Z —— =
3 1S mAG 4D G735 3
1 2 2
- —53,8—2)= Z+54,1+2,8) =
3 3, 5) 5 (4, ,8)

3 1 2 1
4 16+4-2(=+ =)= - +4+4(=+ =
, 9% 16 (5 6) 3><8 (2 3,3)
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oAk I

vier Briiche, Dezimalstellen, Reihenfolge der
Operationen mit Klammern

Name:

1 13 71
7" G 2757 %

2 I 2 39 9
Z4+3(=+ 2y =3
S5 (2 3) 10 10
2 1 101 11
S x15+5-2(=+4,2)= (———) = (—6—

1 2 84 4
£ 56,8~ ) =(7)=(163)

271 1
)= = 18—

301
4,9%x16+4—-2(2 + =
’ G*e ™1 15

Datum: Ergebnis:

1 a3 1:_52_1
§X6*2 2(§+§) (2) (22)

208 3
3,1x 12+3+4(4’2+3’1):T =41§

1 3
(—_g)XS_

71 11
¢ =(3)= 23p)

1
5

2 349 9
Z454.1+2.8)= - =34_
5 3, ,8) 10 . 10

2 1 248 8
S x8+4+4(=+3,3)= - = 16—
3 (3733773 15
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